Year 6 Autumn Themed
Maths Activity Booklet
Answers




Place Value Code Breaker Answers

What is the number |~

rounded to the nearest 10?

Answer: _ 36 990

What is the number

rounded to the nearest 100?

Answer: 71 800

What is the number

rounded to the nearest 10007

Answer: 81 000

What is the number

written in Roman numerals?

Answer: _ MMMDCCCXCVI

What is the number

written in Roman numerals?

Answer: _ MDCII

What is the number

written in Roman numerals?

ey
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Calculations Code Breaker Answers

Solve the calculations and use the code breaker to spell out the autumn-themed words.

A B C D F G H I J K M
3 23 13 20 6 10 1 15 19 24 4 17
N (0] P Q R S T U \Y w X Y z
14 2 7 21 11 25 8 26 16 5 22 12 18
Answer | Letter Answer | Letter
-10 + 23 13 Cc (100 - 1) + (10 - 1) 11 R
12 + 12 2 o 2/12 of 36 6 E
(2 x 5) + 22 14 N 23 + 12 20 D
23+ 2 K
7.15-1.15 6 E Answer | Letter
(100 - 45) + (-6 + 11) 11 R ]2 = 49 7 P
33-1 26
Answer | Letter 155+ 1.5 17 M
50% of 20 10 F 4900 + 700 7 P
16 of 190 19 I 2.82 +1.18 K
121 + 11 1 R 52-6 19 I
23 -2 6 E 280 + 20 14 N
[J2 = 25 5 w 2500 + 102 25 s
-1+3 2 o
0.11 x 100 1 R Answer | Letter
4000 + 10° 4 K 3000 + 200 15 H
300 + 107 3 A
Answer | Letter 10 + 12 11 R
32 9 L 42 16 \"
180 + 30 6 E 2.92 + 3.08 6 E
42 -13 3 A 52 25 S
7.4+ 2.6 10 F 4.61 + 3.39 8 T
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Autumn Calculations Mosaic Answers

Work out the numbers to reveal the hidden picture. Each value has a special colour.

brown = 7200 | blue = 7500 | red = 7800 | yellow = 8100 | orange = 8400

Page & of 9 visit twinkl.com




Autumn Measures Answers

Read the digital scales and calculate the mass of one item.

Show your working out in each box. The first one has been done for you.
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Autumn Measures Answers

Calculate the length of one item.

Write the calculation you use. The first one has been done for you.

T ———|
pe— p— el f40 250 260 270 280 290

265 + 5 =53 T

Ze—__ = 53mm

SN —= s T .

[

A B ) s 7/’_‘},‘:’/7( /_u
¢ ¢

g { ¢ « 4

843 + 10 = 84.3

/;‘3 - 843  cm

O 820 830 840 850 860 870 8

920 930 940 950 960 970 980

520 530 540 550 560 570

540 + 3 = 180

A= —> =_180cm
N

2 x 180 = 360
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Autumn Number Cross Answers

Use the code to complete the calculations. Solve each one using written methods of multiplication.

. oo "/g__\\_
‘.‘./ = \I.’ (i\:?\ ‘:\1“\\?\‘ W "‘.‘I‘ Iz.‘
3 1 6 5 4 0 8 o 3 9
Across
X ) b 5
3 v # 2
% 3|8 |3|1]s
4' N -_,} 7 2 i’} x ‘;“/ - ; O
P 3
7 \¢ X \\_; ¥ 3 3 2 8 5
Down 9
X v 5 5|12
3 s ””’T?t\_.} x - 4
._ 6
> X 1 9 8| 0| 9
6 i ) X 3 7
5 6
7
5 6 1 4 7
Across
3
2.782x49 =38318 Down

3.951 x 35 = 33 285 1.357 x 59 = 21 063
4. 424 x 13 = 5512 3.514 x 77 = 39 578
6.279 x 71 = 19 809 5.288 x 52 = 14 976
7.617 x 91 =56 147 6.411 x 33 =13 563
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Autumn Coordinates Answers

..................................

.....................

Write the coordinates of each autumn-themed object. Translate each object and write its

new coordinates.

Starting

Object
J Coordinates

Ending

Translation .
Coordinates

(5, 5)

Left 4, Down 3 1, 2)

(1,3)

Left 5, Down 5 (-4, -2)

('5: l")

Right 6, Down 2 1, 2)

('2' 1)

Left 2, Down 5 (-4, -4)

Right 6, Up 3 (3,1)

.......

(5, -4)

Left 2, Up 5 (3,1)
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Autumn Number Puzzles Answers

I collect some conkers on my walk home
from school.

I multiply the number of conkers by 7.
I then subtract 22,
multiply by 25,

subtract 9,

and divide by 17.
I end with the number 173.

How many conkers did I collect? 20

Eddie watches a firework display.

50% of the fireworks were
Catherine wheels.

1 L
< of the remaining fireworks were
fountains.

The rest were Roman candles.
There were 36 Roman candles.

How many fireworks were there
in total? 84

Eva and Melody pick some blackberries
to make some blackberry pies.

They weigh the berries and share them
equally between them.

Eva eats 859 of her berries on the
walk home.

She divides the berries between three
pie dishes.

Each dish now contains 255g of berries.

How many kilograms of berries did
Melody and Eva pick? 1.7kg
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